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QUESTION 1

When you create a cluster with Security Setup enabled, HDFS Transparent Encryption is enabled on the cluster, and
MIT Kerberos, Sentry, Network Firewall, Network Encryption, and Auditing are also enabled on the cluster.

Which two principals are created as part of the Kerberos configuration?
A. hdfs/clustername @BDACLOUDSERVICE.ORACLE.COM

B. oracle/clustername@BDCSCLOUDSERVICE.ORACLE.COM

C. oracle/clustername @BDACLOUDSERVICE.ORACLE.COM

D. hdfs/clustername@BDCSCLOUDSERVICE.ORACLE.COM

Correct Answer: AC

Reference: https://docs.oracle.com/cloud-machine/latest/bigdatacm/CSBDM/GUID-16649C5A-2C884E75-809A-
BBF8DE250EA3.htm#CSBDM-GUID-16649C5A-2C88-4E75-809A-BBFSDE250EA3

QUESTION 2

Which function CANNOT be performed using Sentry?

A. ability to give users access to a subset of data

B. ability to create OS users and control access on data for OS users

C. ability to control access to data and/or privileges on that data for authenticated users
D. ability to create/apply template-based privileges based on functional roles

Correct Answer: D

QUESTION 3

You are in a project with teams from other departments of the company. It is necessary to collaborate not only creative
ideas but also the data with the other departments. In the Big Data Cloud Service, you need to copy data that is in very
large files between HDFS on your cluster to their cloud storage.

Which utility is more efficient for copying large data files?

A. odcp

B. ftp

C. fastcopy

D. scp

Correct Answer: A
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Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/copy-data-
odcp.htmli#GUIDAE8587AF-6538-43A6-A2F3-52D63E287788

QUESTION 4

Given: A Kerberos principal is a unique identity to which Kerberos can assign tickets, and a realm is where the Kerberos
database is stored.

What is the realm used by Big Data Cloud Service?
A. bigdatacloudservice.oracle.com

B. bdcs.oracle.com

C. bdacoudservice.oracle.com

D. bigdata.oracle.com

Correct Answer: B

QUESTION 5

In which use case Event Hub Cloud Service (Apache Kafka) CANNOT be used?
A. as a data pipeline solution for big data

B. for Data Integration for streaming data

C. as a relational data store

D. for application development with micro services

Correct Answer: A
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